1. Graph this function with at least 5 points.
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3. The value of a painting you own is dropping. The value of the painting is a function of how many years
you've owned it. At first the painting was worth $100,000. The price dropped $1250 each year. Write a
function rule to model this situation. Define your variables.
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2. State the Domain and Range of this graph:
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4. Use these two functions: A(c) = ¢* -4 & :Fd p(a)>= 7-a
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Solve each equation. < ] —
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Simplify each expression.
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Solve each equation.
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Solve each equation for the indicated variable. 14) a-c= b(r + d) , fora
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13) z=ma-n-p ,fora

Solve each inequality and graph its solution.
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